Physics 11 Note Booklet #2: Kinematics

Projectile Motion
An object launched and falls to the ground, and we ignore air resistance. This is projectile motion.

The key to solving projectile motion problems is the fact that horizontal and vertical components are
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The only value connecting both components is

Horizontal Launch Problems

An object is launched at 25 m/s horizontally from a height of 12 m.

How long will it be airborne? How far will it travel? -
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An object is launched at 35 m/s horizontally from a height of 42 m.

How long will it be airborne? How far will it travel? What is the final velocity of the object?
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A gun is pointed directly at the centre of a target 50.0 m away. The bullet’s velocity is 450 m/s.

How long will it take for the bullet to hit the target? How far below the bullseye will the bullet

be?
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A helicopter is flying horizontally at 45 m/s at an altitude of 250m. They drop an aid package to a

town.

How long will it take for the package to fall to the ground? How far horizontally should the
helicopter be from the town when it drops the package?
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A gun pointing directly at a target 40.0 m away fires and the hits 4.0 cm below the bullseye.

What was the initial velocity of the bullet? /.P
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Type 2 Projectile Motion Problems: Angled launch

A baseball player throws a ball to a teammate at 18m/s at an angle of 25° above the horizontal.

What are the initial horizontal and vertical velocities? What is the maximum height the ball
reaches? How far away horizontally is the ball caught?
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